
Note: Filter Cleaning and Re-oiling: When cleaning your aFe filter, be sure to use only aFe’s “Restore Kit” (aFe P/N: 90-50001 blue oil aerosol, or aFe P/N: 90-50501 blue squeeze bottle oil). Filter Replacement: PN: 24-90023 (black w/blue media). Pro  Dry  S™ P/N: 21-90023 (black w/ white media) PPrroo  DDrryy  SS™ cleaning: see cleaning
instruction sheet 06-00074 or 72-35008 Pro-GUARD 7™ media, (black w/gold media). Pre-filters: 28-10011 yellow, 28-10012 red, 28-10013 black, and 28-10014 blue 06-80174

Intake Kit Installation Instructions: '05-'06 Hummer H3 Stage 2 Intake System

Complete kit with parts.

Step 1

Place new housing into vehicle. With the supplied screws, tighten
using 10mm and 13mm socket.

Step 6

Install 4” aFe high flow air filter to tube. Tighten all clamps
with 5/16 nut driver. Re-connect MAF sensor. Your instal-
lation is now complete. Check and re tighten periodically.

Step 11

Complete stock intake.

Step 2

Install 3/4 bulb trim seal on to top of aFe housing.

Step 7

Disconnect MAF sensor. With 5/16 nut driver loosen fac-
tory intake tube.

Step 3

Install hump coupler onto factory plenum box with
clamps. Place tube through housing on to the coupler.

Step 8

With 13mm socket, loosen both screws holding factory
airbox. Carefully pull out complete air box assembly.

Step 4

With supplied screws, mount new tube onto housing
using 10mm socket or wrench.

Step 9

Carefully remove MAF sensor with the appropriate driver.

Step 5

Install factory MAF sensor onto new tube using supplied
gasket and M4 screws. The plastic spacers are installed
under the MAF sensor.

Step 10

Kit Part # 51/54-10862

Make: Hummer

Model Year Engine
H3 05-06 L5 3.5L

Tools Required:
5/16 nut driver or slotted screwdriver
10mm socket or wrench
Ratchet & extension
7/32 nut driver
13mm socket

Part List:
1 Air Filter (24-90023) or

Pro Dry STM 21-90023
1 Housing
1 Intake Tube
1 Coupler
2 Screws, M4
2 Screws, M8
2 Clamp, #060

3 Nut, M6
2 Washer, Flat, M8 
6 Washer, Flat, M6 
3 Washer, lock, M6
2 Washer, lock, M8
2 Spacer
3 Screw, M6
1 Trim Seal (29”)
1 Gasket, MAS

P.O. Box 1719
Corona, CA 92878 

Support: 951-493-7100
www.aFefilters.com


